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ΘΕΜΑ 1 
Α.    α)   Σ          β)   Λ             γ)   Λ         δ)   Σ         ε)    Λ  

Β.    Έχουμε ,
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ΘΕΜΑ 2 
α)   i)   Το  Λ  είναι το μέσο του ΒΓ , άρα έχει συντεταγμένες  
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 ii)    Eίναι     
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β)    Είναι     4 3,2 1 1,1        και      4 0,0 4 4, 4       

 Οπότε  1 4 1 4 0           

 

 

ΘΕΜΑ 3 
α)   Έστω   x x , y   τότε έχουμε : 
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   άρα   x 6, 4    

 

β)   Είναι   
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ΘΕΜΑ 4 
α)   Αρκεί να αποδείξουμε ότι     

 Πράγματι είναι 2 0           

     Άρα το Γ είναι το μέσο του ΑΒ  

 

β)   Έχουμε 
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γ)    Είναι      
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    Άρα     0        

 

 

 


